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SEIRA 9,070,000/ 9,060,000 10,000
FEE£ERA 420,000 410,000 10,000

EANBMEEEEIRA 7,650,000] 7,650,000 0

BAZBMEESERA 1,000,000 1,000,000 0

HBEFIRA 16,210,000/ 12,125,000] 4,085,000
A N HEEEEBEIRA 261,000 261,000 0

A N HEERZIEIA 15,949,000/ 11,864,000] 4,085,000

REBIREURA 3,460,000 3,843,000/ A 383,000
EENZIE 2,460,000] 2,643,000 A 183,000

FOWFEEXRIZ 2 E2UIA]  1,000,000] 1,000,000 0

E V=P 0 200,000] A 200,000

IEZ:EETIUN 0 30,0000 A 30,000
BIEEBRSEZERA 0 0 0

[GIRERF T D HIRA 0 30,0000 A 30,000

HHEIWRA 2,728,000 2,150,000 578,000
EAZF 300,000 300,000 0

EAB 600,000 500,000 100,000

BERGEHE ZDMBEHEIRA 1,828,000 1,350,000 478,000

ELEIIEETIPN 1,000 1,000 0
HKXBEF BIRA 1,000 1,000 0

BESEMBEIIRA 0 0 0

SZEF B URA 0 0 0

Z D FEURA 0 0 0

SEFEFIRAGT 31,469,000 27,209,000/ 4,260,000




e HH TEE ncEvew =g | E =
WEE 54
EE 3 28596,000] 24,771,000 3,825,000
BN EEE Z:5 3 12,408,000 11,383,000] _ 1,025,000
REHRN X & 780,000 600,000 180,000
BAEFIXH 7.121,000] 6,423,000 698,000
RAEEEXE 40,000 50,000 A 10,000
RAZEE 40,000 50,000 A 10,000
EEEFE 0 0 0
RE e X 305,000 323,000 A 18,000
EEERE X O 336,000 336,000 0
RS EREX L 1,000 1,000 0
EREmE X 142,000 142,000 0
EiE T % 5,000 5,000 0
ENGEESE A 86,000 86,000 0
EEEXH 2.876,000] 2,712,000 164,000
HxH 80,000 80,000 0
EXiES#N 125,000 200,000/ A 75,000
ERXEXH 477,000 396,000 81,000
EE S 1,000 1,000 0
REE X I 13,000 13,000 0
FEE XL 20.000 15.000 5.000
S I EE b 3,107,000/ 3,098,000 9,000
WHHEFLAZH 1,492,000 1,447,000 45,000
miFIJJ_ EX-F 0 0 0 0
wFELEE 0 0 0
,freff;iﬁlﬁ 0 0 0
REXBE XL 901,000 624,000 277,000
BEEREXH 11,000 23,000 A 12,000
HEOSEREXIH 0 0 0
HEREZH 20,000 260,000 A 240,000
BEELH 350,000 310,000 40,000
RIS AE X H 55,000 146,000 A 91,000
FRHEXTH 0 0 0
EEETH 97,000 159,000 A 62,000
EHEIH 171,000 120,000 51,000
BEETH 3,000 3,000 0
SEETH 0 0 0
REEXH 5,000 5,000 0
HEXD 2,000 1,000 1,000
e R E X T 7,896,000 4,949,000 2,947,000
%ﬁﬂ?és‘zﬂj 3,270,000  3,827,000] A 557,000
Tf‘% BELH 154,000 195,000 A 41,000
[BEEREXH 48,000 49,000 A 1,000
B %H%Eﬁﬁnnﬁs‘zﬂj 0 0 0
HAELEXH 32,000 30,000 2,000
RIS A E X H 412,000 403,000 9,000
HEEHXH 3,000 3,000 0
EHEIH 162,000 259,000] A 97,000
EEEES T 100,000 100,000 0
EREXH 3,360,000 55,000 3,305,000
SEEXH 18,000 21,000 A 3,000
REEXZH 5,000 5,000 0
HEX D 332,000 2,000 330,000
1N EES X 5,185,000 5,341,000 A 156,000
[REEEB s 1,590,000] 1,297,000 293,000
W‘E SEEXH 246,000 246,000 0
EEEmE X H 212,000 230,000f A 18,000
;‘iéi-=%1+%§1iﬁ§nn§3‘zﬁ 10,000 10,000 0
HIEREXH 830,000 480,000 350,000
BiEExH 1,000 1,000 0
RIS AE X H 931,000 951,000 A 20,000
HEAXH 614,000 1,385,000] A 771,000
EHEIH 350,000 350,000 0
EEEES T 50,000 50,000 0
EREXH 330,000 330,000 0
2EEXH 1,000 1,000 0
REEXZH 5,000 5,000 0
HEX D 15,000 5,000 10,000
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EHE 5,735,000 5,033,000 702,000
EHEYTH 5,735,000 5,033,000 702,000
ZEHRMZH 240,000 240,000 0
HEFLZH 1,605,000 1,729,000 A 124,000
BRI 0 0 0
ERELEEXH 1,629,000 1,252,000 377,000
BIELEE 90,000 48,000 42,000
EEEFE 1,539,000/ 1,204,000 335,000
REXBEXZH 52,000 35,000 17,000
BIEEREZH 113,000 112,000 1,000
HEASREREX N 10,000 10,000 0
HEREXH 100,000 100,000 0
BEEXH 1,000 1,000 0
RIS ARE X H 20,000 20,000 0
FEKEE X H 184,000 208,000] A 24,000
SEEHXH 492,000 504,000 A 12,000
TEEBEESH 581,000 537,000 44,000
FHRAERXZH 650,000 180,000 470,000
SEEXH 10,000 10,000 0
XEEXH 10,000 10,000 0
TIFERE 8,000 60,000 A 52,000
[ EEXH 30,000 25,000 5000
EXREHHE _ 34,331,000] 29,804,000 4,527,000
SEENIN T = A 2,862,000] A 2,595,000] A 267,000
I #EFHNZDOE
11REFEULA
FEARBAERRERIXA 0
Y5 E & EIAIRA 0
REFEIRAGT 0 0 0
2IREFRERH
EmEBAZLE 0 0 0
BEEEXL 255,000 255,000 0
BEEEZHE 255,000 255,000 0
BEESINTELE A 255000 A 255,000 0
I BAFEFNINZDER
1. B 7&BEIUNA
A5 EEIURAGT 0 0 0
2R EI R H
g EE R HEt 0 0 0
I EEIN T =R 0 0 0
NV FliE&EXZH 0 0 0
LHAUN T =28 A 3,117,000] A 2,850,000 A 267,000
BTHRIN L =58 4500,000] 4,500,000
RARIRIUIN ST 2E 1,383,000( 1,650,000




